PAGE, LINE

H READS

by

Bernstein Functions: Theory and Applications (2nd edition)

de Gruyter, Studies in Mathematics 37, Berlin 2012, ISBN: 978-3-11-025229-3

René Schilling, Renming Song, Zoran Vondracek

List of misprints and smaller additions for the 2nd edition. Date: February 16, 2020.

SHOULD READ

p- 36, 1. 7/8 above

delete the words “if it is hermitian, i.e. f(s

°)

f(s), and”

Comment: In fact, a function f satisfying the condition (4.2) for all
neN,sy,...,sp € Sand ¢y, ..., c, € Cis automatically hermitian.
Therefore, it is not necessary to require this in the statement. The proof
that (4.2) implies the hermitian property of f is exactly the argument
used in the proof of Lemma 4.2: Observe that (4.2) means that the ma-
trix F' = (f(s;) + f(sk) — f(s; + sZ))Zkzl is a hermitian matrix, i.e.

F:FT.Forn:Q,sl:OandSQ:sweget

( £(0) £(s) + £(0) = £(s) )
FO) +F(s) — f(s*) f(5)+F(5) — F(s+ ")
<f(0) £0) + F(s) — f(s*) )T
FO) () + F(5) — f(s+5%)

_<f(0) FO)+ f(s) - >

FO) f(s)+ f(s) - f

:(fw) J0) + 1(s) )
FO) f(s)+ f(s) s+s

If we compare the top left entries we get f(0) = f(0) and for the bottom
left entries we then get f(s) = f(s*).

p- 57, 1. 5 above

O0<a<l

O<ax<l

continues on next page
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An additional comment: If o = 1 the two integrations lead to f(\) =
(1) (Alog A — X) + f”(1)CA. Since this function grows faster than
any linear function, this is not a Bernstein function, ruling out the case
a=1.

p. 61, 1. 13 above, f=4~Lrm el =Ln

Theorem 5.22 (i)

p. 73, 1. 5 above, (6.2)

2 /°° Imf,(—s+ih)
——*ds

) (542

2 /°° Imf,(—s+ih)
———*ds

T (542

p- 74, 1. 11 above

2 oo
™ — o0

2 o
T — 00

p. 74, 1. 8 below / -+ II(ds) —/ -+ II(ds)
p. 77,1. 9 below C\ (—o0,0] C\R
p. 106, 1. 7 above v e (0,1 —aq] v € [a,1—qf

p- 127, 1. 2 after Table 9.1

A A
log <1—|— E) — log (1+ E)

log (1 + %) —log (1 + ﬁ) (i.e. sign error)

p. 218, (13.30) below AL, Al T

p. 218, (13.31) below LAY LA u

p. 225, 1. 10 below Tm[(f(2) — fi(2))/£(2)] Tn{(f(2) — f(2))/ i(2)]
p. 320, entry 37 log(var+vb) VX log(Var + Vb)
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